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195)
196)

197)

198)

199)

200)

201)

202)
203)
204)

205)
206)

207)

208)

209)

Risolvere le seguenti disequazioni irrazionali:

M 2rats]l 2.5%< 04
1 -vV3z-2<0.

z+3
4 -z’

1 -2z
1/ -3<0.
2 -3z s

V22410 % 5°< 3.
Vit -2z -3 >3z+3.

2<

VEFEH(2z-1) -2z <8.

VAT 2Y (T 25+ ¢! 2810
T — V1 —z— 121> 0.
V2z—-1-2z-2<0.

V(z+2)(z—-1) -2z >4.
V3iz—=1>v2z+1.
V2m S e —— 80,

1
ﬁ+5:+2s>;(ﬁ+5z+@.

4(@—1)(\/1—_x+1)<1.




210)

211)

212)

213)

214)

215)

216)

217)

218)

219)

220)

221)

222)

223)

224)

225)

226)

227)

228)

7 Disequazioni

9
Tz < 3+Vz(z—4). [zgo,z>ﬂ
Vz(3z—22)+7 > 21. [z <0]
10
V2 —5z+6 —4 —2<0. —1—3—§$§2,123
Vg2 Lo b S0 k3. > [Vz € R]
VTt < It T =2, [aE=5)
73
Vz+3>2+\z-—4. 4§I§—1€
Vz+2 <1 —-—+z-1. [ nessuna soluzione]
V2 — 55z +250 + 14 < 7. [z > 50]
29 841
Vit +Tz < — — . T s —1 00 < T
2 144
vile— B K2+ > 2. [z>2]
V2z+1>3+vVz+8. [z >34+ 633
1
N N =l O {—5§I<28—6\/21}
3 1
z<2+ V3 —3:2+5z—-6. l:I<§,I>2:]
V3rtl+vz—4 <4z +5. [4 <z<5]
V22 + 11 < 31 — 2. [-5 <z < 5]
z—4
+
=% Recim. [z>9]
S -2
Vﬂ+3z>£3—2§i—l. [z< -4, 2>1]
%= 3
+ 22 : R
e > T [z € R]
Jr+5—-vz-3>-2. [Vz € R]
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7 Disequazioni

239) 2= 2 B2 V6 O

21> — 152+ 17
‘0)\/ 4 Rl >0

23
At

4
231) Z < 2+ 2=

2=
232) | 2 |
EI < 3

EET D kR D 52

235) \/I—Z+\/6—I>\/I——l~\/3 =T
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